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Suppose a:father had a sum of T 3,600 and he decided to divide this amount

among his three sons Anil, Sunil and Nimal in such a way that 3 times Anil's

share, 6 times Sumil’s share, and 8 times Nimal’s share are all equal. Then
Anil’s share is

(A) T1,520 @) T.960

(€ 2720 (D) 1,860

The ratio of age of two sisters is 5 : 7. One is elder to the other by 8 years,
Then the ratio of their age after 4 years between older to younger is

(A) 2:5 (B) 4:3
€) 4:%5 - @) 3:5

a? +4
H (%J = (x~1yy-52 then the value of a is

(A) ~4, 1 {B) 4, -1
(C) —4,-1 o 4,1

| 1 t
Ifx= 2 +—— andy = +/2 — —= then x2 + y2 is
5 mdy=vi- g ¥

A V2 (®) %

) 3 B (2

o
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If ¢.and P are roots of the equation 252 — 4x + 6 = { then the quadratic equation

2 2
with roots ot and B is
B o

(A) 3x2-10x+9=0 - (B) I+ ix+9=0
(€) @-13x+3=0 @) x2+10x+9=0

'A manufacturer produces two products A and B. The profit on product A is _
¥ 8 on each unit and profit on product B is T 13 on each unit. Then the
objective function is
{A) Minimize Z = 8x; + 13x, (B) Maximize Z = 8%, + 13x,

(C) Minimize 2 = 13x, + &, (D) Maximize Z = 13x, + 8x,

What are the valués of x & y from the given equations 7

(."in.rml’c]:ml:2 z ¥ xamiy_m 1
(A) (15,20) (B) (20,25)
(©) (25,30) @) (30, 35)

Acompanjrprcdncahm-typebfpmductﬂ&ﬂwhichrequimprmessingin
two machines. First machine can be used iip to 15 his. and second can be used

at most 12 hes, in a day. The product A requires 2 hrs. on machine | & 3 hrs.

on machine 2. The product B requires 3 hrs. on miachine 1 & 1 hour on -
machine 2, This can be expressed as :

(A) 2% +3%, 515 B) 2x,+3x,<15
3x; +x, <12 3% +x, < 15

) 3x,+2,<15 (D) 2%, +3x,<12
2, +xy <12 C 3ptxys15

RDM(H)
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The simplified value of [5a® b2 x 3(a b%)4]/(15a2 b) is
(A) #°b7 ®) 277

) 2°b° - (D) a’bs

Three Employees A, B and C of a finm receive variable incentive money in the
ratio 3 : 4 ; 5. Then the Management also gave a fixed incentive of T 4,000 to
each of them. As a result now the total incentive amount of A, B and C
becomes in the ratio 5 : 6 : 7. How much amount did B get as variable

mecenfive 7
(A) ¥2,000 (B)Y Ta3,000
{'C_) T 6,000 (D) TB,000

A cerlain amount at a rate of simple interest x, doubles in 5 years, At another
rate of simple interest y, it becomes three times in 8 yeﬁrs. Then the. difference
between these two interest rates is

(A) 5% B) 8%

(€) 3% D) 4%

Anil deposited 'a certain amount in a bank at the rate of 10% per annum
compounded semi-annually, At the end of one year Anil received 2 surn of
¥ 13,230. Then the sum deposited in the bank is

(A) ¥13,000 B 1200
(€) 12,000 D) 5,000
RDM(H)
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The effective rate of interest corresponding 10 a nominal rate of 8% per annum
payable quarterly is (Given that {1,02)% = 1.08243216)
(A) 6:24% (B) 5.38%

- (C) 8.24% D) 82.4%

Sunil plans to save for his higher studies. He wants to acoumtilate 2 sum of
¥ 5,00,000 at the end of 10 years. How much amount should he invest every
year if the interest rate is 10% compounded anially 7

{Given that (1.1)!0 = 2,593742)
(A} T3L,372.71 B) T3,1371.27
C) 3131271 | (D) T 3,000.32

The future vatue of an annuity of T 7,200 made annually for 5 ye-m'é at the rate
of 12% compounded ansiually is (Given that {1.12)° = 1.76234)

(A) ¥ 45,740.40 (B) 74,574.50
(C) T 54,740.50 (M) ¥ 2,400.50

John borrows # loan of ¥ 10,000 from a bank and he agreed to pay back in 24
equal instalments at the rate of 10% compound interest per annum. Then each
instalment amount is (Given that {1.1)2% =9,84973)

(A) T1,20035 {B) T1,112.99
(€ T1,211.99 D) €1,321.56

What is the present value of ¥ 8,000 to be required aftor 10 years if the interest
rate be 6% ? (Given that (1.06)10 = 1.7908)

(A) T6,499.37 (B) T4,467.28

(C) ¥52867.32 D) T1,790.86

RDM(H)
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Sam invested 2 12,000 for 10 years in & financial company. At the end of 105
year his investment value is ¥ 18,000, Then the Compound Annual Growth
Rate (CAGR) is if (x)1 = 1.0413
(A) 41.40% B) 4.13%
(C) 11.56% - @) 12.06%

Mr. A invested T 20,000 in a bank at the rate of 4.5% p.a. H:rwmved
¥ 27,500 after end of térm. Find out the period ?

(A) 450 Yrs (B) 8.34 Yrs

() 6.50 Yrs (D) 8.10Yrs

¥ 1,500 is paid every years for myearstopayalum ‘What:sthelosn
amount, if rate of interest 5% p.a ? If (1.05)19 = | 6288

(A) T11,581.53 (B) T 11,505.50
(€) T11,903.38 (D) T12,50348

A certain amount iz invested in a bank. What annual rate of interest
compounded annually becomes 8 times of this investment in 5 years 7

(Given that 8% = 1.515716)
(A) 51.57% (B) 5.15%
(C) 15.15% D}y 1.51%

If the compound interest on a certain sum for 2 years at 5% per annum is .

T 246, ﬂ:mﬂiemmpiemtmmanﬂzesamesumfmduublcthenmemddauble
the rate per annim is :

(A} T900 | (B) T960
{€) 1,000 ® T1100

RDM(H)
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23. Madhu deposits T 100 in 8 Bank' at the beginning of every year for 20 years at

24,

27,

10% interest rate compoynded annually, how much would she eam after
20 years 7 [Given that (1.1 =6.7275]

(A) 630025 (B) T6,500.45
(C) 7560025 D) 625035

How much amount is required to be invested every year so as to accumplate-
¥ 15,00,000 at the end of 20 years if interest is compounded annually at 10%% ?
[Given A(n, i) = 57.274999]

(A) ¥26,189.44 (B) ¥29,190.35
(C) T24,155.35 (D) 230,698.44

Assuring that the discount rate is 12% per annum, how niuch wonld you pay
to receive T 100, growing at 8% annuaily forever ?

(A} 2,500 (B) 2,700
(C) ¥ 3,000 (D) ¥2,000

In hovw many ways can 5 Doctors, 4 Professors, and 6 Auditors be séated jn a

Tow so that alt person of the same profession sit together 7

(A) 3!xs5 (B) 3Ix5Ix4l "
(C) 3!x51!x41x86! (D) 31 x 51 %6

The sum of the 4* and 8" term of an AP is 10. Then the sum of first sleven
terms-of the series is

(A) 33 | B) 22
(C) 44 D} 55
RDM(H)
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=== 28. The product of three numbers which are in GP is 512. Then the second
number is
(A) 2 B) 3
© 6 @) 8

29.

31.

32.

3.

Let A= {a b,c,d, e} then the number of proper subsets is
{A) 31 _ B) 32
(C) 30 (D) 29

In how many ways can 13 balis be arranged, if 4 of them are black, 6 red &
5 are white ?

(A) 3004 (B) 3005

(C} 3003 (D} 3008

Find the 9 term of the A.P. 8, 5,2, ~1, 4, .........

(A) -10 By -24
(Cy -l6 {0} —4
The sum of series 1 +2+ 3+ .,......_ is 55, The number of temms is -
(A) 40 (B) 30
(C) 20 ) 10

A panel has total of 11 members including 5 males and & females, Find out the

nuriber of ways of picking 2 males and 3 females from the given panel tean,
(A) 110 (B) 200

(C) 220 D) 350
RDM(H)
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In how many ways can an interview panel of 3 members be formed from 3
engineers, 2 psychologists and 3 managers if at least | engineer must be
included ? :
(a) 30 - (B) 15
(©) 46 | (D) 45

A={s,b,p},B={2,3},C={p,q,r.5} thena[(Aw C)xB] is:
() 8 | @) 20 :
c 12 | (D) 16

Ifx=atzandy=a(t3mt)ﬂwn% =

3t2 1 | 22 _

@ E (®) B‘Zt !
- 1,2

©) I -1 ) e+l

t | 2t

Themafgimlrevenun-ﬁmntionforaproduﬂh[ﬁni—#x+3ﬁ.'I‘hmﬂ:etntal.
revenue function is

(A) Sx+3xt+53 (B) Sx-2d+y?

©) Sx+2+x2+3 D) Sx-22-2

 fim x?+4x+3
B 3 T e

@ 3 | ®)

w0

© 2 ®)
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3. [@+sdr | o
(A .(2::.:5 5) | @) (21;5)
. S . : . it 5 7
© 25y @ @25

A committee of 3 members is formed from 5 women and 3 men in‘such a way
that it consists at least 2 members who are ‘women. In how many different
ways can it be done 7

(A) 40 - B) 50
© 60 @ 0

Find the missing term CEGI, XVTR, GIKM,
(A) TRPN (B KMBD
(€) AMNL - @) ILNP

In certain code language ‘CLOCK’ is coded as 75276 and EARTH’mcoded
&8 83491, then ‘COAT’ iscodedas

@A) 7320 ® 7239

©) 7932 @) 7529 .
Fmdﬂwmlssm,gﬁamnfsmesz 7, 16, 29, . ,_92
(A) 39 B) 46

© 43 . D) 62

ki

RDM '[H).-'! i | n Fonr
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I & certain langusge “MENTION® is writien as ‘NFOUJPO", the ‘code of
MYSTIFY’ is : | ’
(A) NZTUJGZ (B). NFOFTIT
(C) LNEITNO . (D) OERESTN

Find the odd man out from the following :

Marriage, Wedlock, Divorce, Matrimony

(A) Marrisge ®) Wedlock
{C) Divorce - (D) Matrimoqy

Anil started walking 5 kms: towards north then he tumed leff and waiked

3 kms. Again be tumed left and walked 5 kms. Then the total number of kms
he walked is ,

(A) 13kms ' {B) 8kms

(C) 3kms (D) 5kms

Raju started walking 10 kms towards east from his home. Heﬁ-lmﬂl right and
wilked 5 kms to the south to reach his school. In which-direction is-his achool
from his home ?

(A} South-East (B) North-East

(C) South-West (D) North-West

A started wiilking from his hiouse & walk 4 km north sids then turns right &
walk 3 k. If he-turns right again, what is the direction now. ? |

(A) North (B) West

©) East @) South
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- A man starts walking 10 km to the North. Be tums right and walks 5 km, thén

turns right again and walks 10 km. In which direction is man now from the
starting point 7

(A} East (B) West

(C) Nouth (D) South

In the moming Anika staried walking from a point where hér shadow falls in
front of het. She walked 2 kms and then tumed left and walked 2 kms. Again
she turned left and walked 2 kms. In which direction is she now facing 7

{A) East (B) West

© Sowh (D) *North

Eight persons A, B, C, D, E, F, G and H are sitting in two rows opposite to

‘each other. Eachmwhas4pmons B and C are sitting opposite side, C is
sitting in between E and D. Hlssm:mgnnmedmteleﬁafE F and H are

sitting at disgonally opposite position. G is sitting extreme left, Who is sitting
in front of E ?

(A) F ®) G
) B o) A

Five persons A, B, C, D and E are sitting in a circle facing centre. C is sitting
immediate left of E. A is sifting in between E and D. Who:ssmngb@twmﬂ
and A7

(A C B D
© E | @) B
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Five people A, B, C, D, E are seated abolit s round table facing outside the
center but not necessary in'the saime crder. A sits ‘af immediate fight of B. C -
sits third to the left of D, who sits at the immediate right of A. How many

persons ate gitting between C & D ?
(A) 1 ®) 2
() 3 (D) 4

Five friends A, B, C, D and E are sitting in a row facing east, A is sitting

between C & D. B is second to the lefl of C. Who is sitting at the south end ?
(A) E (B) B
© C () D

Five persons A, B, C, D & E sitting or-a bench. ﬂmmﬂa&cnghtofﬂ Eis -

mmedmtaleftnfﬁandnnmediaterlghtofﬁ.]a is the right of D, Which
person is sitting in the middle of bench ?

(A} B (B) E

© A o D

L is wife of N, P is son of N, K is brother of N and futher of O. What is the
relationghip of P and O 7

(A) Uncle | (B) Brother
(€) Cowsin . (D) Nephew

CmsmtﬂrnfB D:sfaﬂ:erﬁfA Alsb@otherufB DandEaremamed_

couple, HﬁmerclatedtnE?
(A) Daughter (8) Som

(). Mother (D) Father

ROM(H)

e
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58. B is daughter of A. C is brother of B. C is the only son of . C and E are

59,

61.

married couple. F is the only son of E. Then how is F related to A 7
(A) Grendeon (B) Father
{C) Brother (D) Uncle

Given that X is mother of Y. Z iz son of X, A is brother of B. B is daughter of
Y. Who is grandmother of A 7

(A X B Y

" (©) A (D) B

U is father of W, X is son of V, Y is brother of U, If W is sister of X, how is X
relatedtoY 7

(A) Father {B) Sister-in-law’
(C) Nephew {D) Grandson

Standard Error (SE) and square root of sample size are
(A} Directly proportional (B) Equal
(C) Inversely proportional (D) Not equal

The mean of three numbers is 135. Among the three numbers the biggest
mumber is 180. The difference between the remaining two numbers is 25. Then
the smallest number is

(A) 130 B) 125
(C) 120 (D) 100

RDM(H)
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Out of 1000 persons, 40% are female, others are male. [n a marriage function,
300 persons enjoyed the song. 30% of the people who had not enjoyed the
song were female. What is the number of male, who did not Eﬂjﬂ}’ the song in
the function ?

(A) 120 | @) 130
{C) 360 (D)} 490

In tabular presentation of data, stub is :

{(A) Left part of table, which provide the description of rows
(B) Right part of the table providing the description of the row
(C) Left part of the table providiag the description of columns
(I3} Right part of the table providing the description of ¢olymns

Which sampiing technigue is most appropriate when z persoh wants to msure
that subgroups are proportionally represented ? :

(A) Stratified Sampiing _ (B) Simple Random Sampling

{C) Multistage Sampling (I3} Systemstic Sampling

For the non—overlapping classes 25-34, 35-44, 45-54, 55-64 the class mark of _

the class 35-44 is

(A) 39.5 (B) 40.5
(€) 350 ADY 44.0

Non-probability Sampling is also known as :
(A) Stratified Sampling -

(B) Simple Random Sampling

(C) Purposive or Judgment Sampling

(D) Cluster Sampling

RDMH)
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Ogive is used to find
{A) Mean {B) Median
(C) Mode * (D) Range

The algebraic sum of deviation of set-of observations from their arithmetic
meéan is -

ay = | ®) 1#—5(’-“'%2
n (n-1)

Zx;

' : ’
C) P D) Zero
Mean deviation is when the deviations are taken from the median.
(A} maximum _ {B) minimum
(C) zero (D) can’t say

If x and y are related as 4x + 2y + 12 = 0 and mean deviation of x is 4.5, then
the mean deviation of y is

(A} —9 . ®) 9

{C) 11 (D) 45

For a distribution the mean is 30, The standard deviation is 2, then coefficient
of variation is
(A) 6.67% (B) 9.45%
€y 7.5% D) 2.5%
RDM(H)
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A sample of 100 people is taken from a population of 1600. The sample mesn
height is 170 cm with a standard deviation of 10 cm. What is the standard
error of mean ?
(A} 0.5 cm B) 1.0em

(€©) 158cm ® 10em

In pic chart, if 3 category represents 25% of the total data, what will be the
angle of corresponding sector ¢

(A) 9° B) 45°

(© 60° D) 75°

Find the Harmonic Mean of 2, 4 & 6,

(A) 3.30 (B) 3.00
(© 375 D) 400

If the mode of the following data is 13, then the value of x in the data set is
13,%,6,3,8,13,2x+3,8,13,3,5,7

(A) 6 - B) 3
<y 7 D) B

The best messure of central tendency is

(A) Mean (B) Median

(C) Mode (D) Range

RDM(H)
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The standard devistion of the data 2, 4, 5, 6,8, 17.i 23.33, then the standard .

deviation of the data 4, 8, 10, 12, 16, 34 is
(A) 23.33 : {B) 46.66

© 1223 D) 0

.. 'The values of the first quartile and third quartile are 36,50 and 57.50. Then the

semi-inter-quartile range is
(A) 47.50 B) 1250
(C) 10.50 {D) 11.50

Let A and B be two possible ¢utcomes of a findom experinent and P(A) = %

P(A U B) = ’;' and P(B) = x. For what valueof x are A and B mutually "’

exclusive events ?

L 1

@ 3 ® -
1 1

A random variable X has the following probability density function :

{x)=6x{1 —x) 0251
Then the niean is

1 : 1
(A) Tl | B) 3
o1 : 1
© 5 o
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I£X is a Poisson variable such that BX=1) = P(X=2) then the variance is
(A) 2 ® 1
(C) 2 ™ 3

Which one of the following statement is wrong ?
(A) The normal curve is bell shaped.
(B) The correlation coefficient between X and Y is 2.6

(©) Ifr=0, regression lines are perpendicufar to each other.

(B} For any two events A anid B, P(A B)}=P(A)+ P_(B}— P(A " B).

The AM & GM for two observations are 8 and 2. Find the values of twg
observations.

{A) 15.75,025 ®) 16,1

) 15,1 o (D) 1475, 1.75

A random varisble has the following probability distribution :

X: 0 1 2 3

SN N
2 3 4 5
Fitid expected value of X,
(A) 1.43 @) 1.20
(© 180 I 2.66

What will be the mode of the Binomial distribution in- which mean is 20 &
Standard Deviation is v10 ?
(A) 20.5 (B) 21
(€) 20 ' (D) 41
| ' RDM(H)
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If3p-mentnfcarammcupmannfwtmadbyammpmymkmvmmhe
defective. What is the probability that & éample of 100 cups aré tiken from the

- production process, of that company would contain exactly ong defictive cup ?

(A) 0.15 B) 0063
) 0.09 (D) 030

A population comprises 7 membess. The number of all possible samples of
size 3 that can be drawn from it with replacement is —

(A) 216 B8) 343
€y 21 ™ 125

Let P(A) = % and P{B )~ % If A and B are rnutually exclusive everits then

P(A U B)is

1

(A) (B)

5
2
(8] 3 (D)

thga th|w

The mean deviation of normal distribution is approximately equal to

(A) 850 ® 3.14q

(C) ll4o D) 08s

Yﬂumgwenﬂ:efquowmgdmmhmgmaﬁeqmcyd[mhmafm
observations : :

IX =50, LY:= 60, ZX?=300,EY? =352, E(X + Y2 = 1372

then Covi(X, Y) is
(A) 2 B) 4
C) 6 D) 8
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Ifr = 0.8 then coefficient of non determination is -
(A) 036 - (B) 0.64
" (C) 0.20 ' (D) -0.36

The correlation mﬂimmtbetwmxanlesﬂzdear{X} 5Var(Y) then
regression coefficient.of X on Y is -

(A) '5- (B) Vs
© 3 ® s
Compute the rank correlation coefficient from the following data :

n=10,%d2=5
(A) 0.95 (B) 0.97
) 096 | (D) 099

Ifr=08,b,=06b, =05 ¥ =Sand § =3, then the regression equation

yOnxis

(4) y=06x-6.0 (B) y=096x-37
€). y=0.58« _ . (B y=06c

Which one of ths following index uses the method f svérage of basé year and
current yesr ?

(A) Laspeyre's Index | (B) Paasche’s Index
(C) Marshall-Edgeworth Index (D) Fisher's Index
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Ifthe prices of all the goods change in the same ratio, then

(A) Laspeyre’s index and Paasche’s index numbers sre equal.
(B) Laspeyre’s index and Passche’s index numbers are not equal.
(C) Laspeyre’s index is greater than Passche’s index number.
() Laspeyre’s index is less than Paasche’s index number,

Given that Ip.q, = 300, Zp,q, = 125 and Paasche’s index number is 200 then

the value of Zp,q, is
{A) 125 B) 150
(Cy 250 @ 100

If Laspeyre’s index number is 125 and Paasche’s index number is 500 then
Fisher’s index number is |

(A) 312.5 (B) 250.0
({C) 62.5 (DY 1478
When the cost of Beverages increased by 40%, the person said that the rise

had increased his cost of living by 8%. Before the change in price, the
percentage of his cost of living was due to buying Beverages is ; '

(A) 15% B) 20% |

© % ©) 2%

RDM{(H)
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I feer o w2 3,600 & 3fte 31 70 Tl o S ot ot onfve, et ok
et 3w wenme fennforer fm 2 P a1 35 o w1 3 e, ke B st 6
T 31 Frere 3 v w6t 8 T oy TR R | o W R

(A) 21,920 B) T 960

() T720 (D) T 1,360

AR IPF IS 78 I H @A s 2 | % 4 991 % v

w3 o1 & e I T sy g R
(A) 2:5 (B) 4:3
(C) 4:5 D) 3:3

)

a4+ 4 _
ufe (-:*J = (x}y) 52 ] a FT AN

(A) 4,1 B) 4,-1
(€ -4,-1 D) 4,1

TR = J5+7‘§ Ay = 45"-7‘; T +y2 R

(A) 2 ®) T

© 5 T D)o
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. 'nﬁuaﬂtﬁaﬁm'zﬁ—4x+an.u%fm§-!mqﬁmmhmm@
o o B g2

b o

(A) 3x2—10x+9=0 (B) 3x2+10x+9=0

(C) »*-13x+3=0 (D) 2+10x+9=0

e ftan 2 3ea A 3t B 1 IE wWa d | TG A SR WA R
¢ 5% 3t oee B SRS A AN T 132 | T RE TR R

(A) PR Z =8x; + 13x; (B) STimpan Z=8x, + 13x;
(C) A Z=13x + &x, (D) AR Z = 13x, + 8x,
ﬁﬁﬁm@ﬁﬁ%;mgmmﬂwﬂm?
X ¥y

ﬁ‘ﬂiz 5 y—-Xx
s X2 o

y-10 _
(A) (15,20) B) (20,29
{C) (25,30) (D} (30, 35)

wmﬂ'ﬁmtmaa‘nﬂmmm%mﬁmﬁﬁﬁm
) amavewar ¥ | T 2§ o el 15 T2} % wam i o wwd ¥ @i
e s Tferemem 12 S o ST Y WA | SeaTE A HEA 1 W2
w3t uE weft 2 R 3 St oy e ¥ | SeTE B Y A 1 R 3 6 e
2o 1 26 a8 | 70 av ) o Rrm W e

(A) 2x +3x;<15 {B) 2%, +3xy <15
3x,+x, <12 3x,+x,515
(C) 3x;+2x,£15 (D) 2x,+3x 12
2x; +xy 212 3x;+x, 515

RDM(H)



1 “.

11,

12,

(26)

| ROMG)
[58°7 x 3(ab3R2}/(1542b) 1 TReiiga 7T &
(A) adb? (B) a’b’
© 2#°p - D) a’pd

mﬁtrﬁaﬁaﬁt&&,ﬂmmﬁmm&wﬂ:4‘:5%mgmaﬁm
o 3 | T W 3 T A w ¢ 4,000 B amdy o By |
MMA,B#k'C.ﬁﬁmﬁnuﬁrs:ﬁ:?&mgtrmﬁ%-im

TREwrdp I Fopert Tty wr=r g 2
(A} T2,000 (B} 4,000
(€) 6,000 (D} T 8,000

_%ﬁﬁanﬂ'mﬂmﬁaxﬁsaﬂﬁwﬁw% | O guh

Wwﬁa_{_ymmss--aﬂﬁ?ﬁ?umﬁwﬁtlaﬁﬂﬁmaﬁm
Y |

(A) 5% (B) 8%

€ 3% (1)) %

mﬁaﬁlmnﬁaﬂaﬁa{,ﬁmﬁ—mm&&mﬁmmhﬁ
wﬁlﬁaﬁ%mﬁaﬁaﬂna,_zaaﬂnﬂermgiimhﬁw
R ur

(A) T 13,000 B T1,200

) T12,000 D) 75,000

RDM(H)



13.

14.

185,

16.

17.

@n
RDM(H)
T H B 8% WA A ol W, e e wm AR W R
(e & (1.02)* = 1.08243216) | _
(A) 6.24% | (B) 5.38%.

€) 8.24% D) 82.4%
e ¥ o oo v 5 R e e o e w1 7 10 990 % v 3

R 5,00,000 6 Tl g wven & | Swent weie w4 Reaen AW wom aim 9
T R 10% B e X 0

R (1.1)10 = 2.593742)

(&) T31,372.71 {B) ¥3,137.27

(€ T31,312.71 (D) ¥3,000.32

12% Wi Sl s @ R 5 a5t & Ry o w9 @ s i @ 7200
it s Wi e g i R g (1125 = 1.76234)

(A) ¥ 4574040 (B} ¥4,574.50.

{C) T54,740.50 ) T2,400.50

w1 T ¥ 9 £ 10,000 %7 Fof P & S g T 24 s Rvedt i 109 ¥Ry
74 ) ThafE T R TR & R S D § ) o v R Sk
Rar® (1.124 = 9.84973)

(A) €120035 , (B) T1,112.99

€) 71,211.99 (D) ¥1321.56

IR = T 6% 2 A 10 96} F W AEEE T 8,000 1 FHAR T 797 e 2

. (fGar % (1.06)1° = 1.7908)

(A) T6,499.87 By T4,467.28
(C) ¥5867.32 D) T1,790.86

RDM(H)




(28)
ROM(H)

18. Yo Refle weht d ol S R e 12,000 i RpT. | 10 ol & o &

19,

. 26

21-

22..

9% Pv W g € 18,000 2 1 AW Ry ftE 9i = caar) b P
() =1.0413

(A) 41.40% B) 4.13%
©) 11.56% @) 12.06%

MAFssuafrad B maFsie 20,000 3% 152 | 3946} 3y )

% W% 27,500 I WY, | 9% i wra Sy |
(A) 4.5094 . (B) 834
©) 650§ ) s109d

T ¥ W F Ry 10 79t o el e ¢ 1,500 T IR ¥ | ook oy
TR & w56 wRy & 1 2R (1.05)10 = 16288

(A) T11,581.53 (B) T11,505.50 |

©) T11,903.38 D) T12,503.48

o it ot e o fdw < ot & | Tl s = R o i

T Ran # s mit ¥ s e

(e 815 = 1 515716)

{A) 51.57% B) 5.15%
" (C) 15.15% D) 1.51%

v AR oft o 2 9t & g % T o ) 30 A Sy W €246 | W
TR R TR e s e s "
(4) T900 ~ (B) 7960

©) 21,000 Y T1,100

RDM®) -



23,

26.

27.

(29)
RDM(H)
7y % v v % o o 8 3 9 100 TiftE Sl W mwo20 w6t
& fRrg 7 100 57 Fi 1 20 ol 3 g, w R Tt rfdie R 2

i ® (1.1)20 = 6.7275)
(A) 1630025 (B) T6,500.45
(C) ¥35,600.25 (D) 625035

vew o ferdt ofr Bdw w0 ) s & ofs 20 o ¥ s
2 15,00,000 99T 81 w6, AR s 10% aftE T Eifm R 7

(R A, iy = 57.274999]

(A) X 26,189.44 (B) 29,190.35

(C) T24,15535 (D) ¥30,698.44

g TR R e R w 2w TR Ay, sy ol e R wa gy s
o T 190 s w0 % ey femer R S 7
(A) 72,500 B) T2,700
(€) 3,000 - (D) T2,000

5 i, 4 it 3R 6 3 v iR 3 feawy ol & 45 v ¥ it v
o waw ¥ et ey g Az u% 2

(A) 31x5! (B} 31x51x4t

(C) N x51x4lx6! D) 31x5!x6!

et g Aot (AP) ¥ 48 w2 uE 88 TR HAM 10 ] ) R Al % et AE
w1 R BT

(A) 33 (B) 22

© %4 D) 55



19,

3.“.

31.

33,

(30

RDM(H)
i S ToireR Aot (G) § ¥ 37 o 512 & o gl e et
(A) 2 ®) 3
) 6 (D) 8
A = {a,b, c, d, e} T P SR 6 dom B
(A) 31 B 32
() 30 @ W

13ﬁﬁﬂﬂmﬁwﬁﬁaﬁammmaw&3ﬁ#4m 6 OIS
s

(A) 3004 (B) 3005
(©) 3003 (D) 3008

AR 3oft (AP) 8, 5,2, -1, ~4, .i..... B1 987 9 T Ay |
(A) -10 By -24

(C) 16 )y -4

AR L+2+3+ ... W55 R v B e

(A) 40 (B) 30

© 20 @) 10

T e g 11w B Rt 5 gov o 6 et § rwﬁ&n&ﬂmi’rﬁ
2 9% T 3 el Y fe vl & e v 2

(A) 110 @B 200
{C) 220 (D) 350

RDM(H)



34,

35,

37

. 38,

(31)
RDM(H)
T 3 HEE TR Yo 3 iR, 2 et v 3 a3 | e

TS A A Aen Y aR i aw A v 1 PP miRe Ry

(A) 30 B) 15
©) 46 ®) 45
A={s,b,p},B={2,3},C={p,qr5} (A C)xB]§:
(A) 8 (B) 20
© 12 ©) 16

AR x = a2 HR y = (> ~ ) T :ir =

32 _1 3t2 ¢
(A) o (B) 5

3t 1 3t2 +1
© = @) =
thmmmwm 5 4x+3x13|mgmm
L Ck
(A) Sx+2x2+53 B) -5..1:—2:2*1".:3
{©) 5x+22+x3+3 (DY 5x—-22-x3
lim x%+4x+3
232 et 9 22 +6x+9 mmﬁ !

. 2_

(A) '37 B) 3
© 2 - ®) 3

RDM(H)



39

40,

41.

42 L]

32)

RDM(H)
j (2x + 5)7 dx
(2x+5)° (2x+3)
(A) Y (B} 3
L (@5 + 8%y (2x? + 5%
(€} 2 (D) s

5wl T 3 7out & wh 3 weETY FAA B v FHR D TR I R e
Y FH 2wk aeE B  Fore e el @ S P et 2 0.

(A) 40 (B) 50
(©) 60 @) 30

CEGI, XVTR, GIKM, w g T 7 Hifrg
(A) TRPN (B) KMBD
(C) AMNL (D) JLNP

@ e s v § <crock = 75276 ¥4 ¥ Hi¥a Ry amm § aix
‘EARTH" 1 83491 & &7 & SiRa e o1 8 | o ‘COAT* %Y ®ifee R
AR

(A} 7329 | (B 7239
(C) 7932 D) 7520

3R 2,7, 16,29, ....,, 67, 92 %1 e 77 v
(A) 39 B) 46
(C) 43 D) 62



485,

46,

47.

48,

(33}

. RDM(H)
. W% Fifvaa s § ‘MENTION 91 “NFOUIPO® e /i & | ‘MYSTIFY?
FTHE B/
(A) NZTUIGZ (B) NFOFTJT
(C) LNEITNO (D) OERESTN
Pratefaes & s # fafia =t
Marriage, Wedlock, Divoree, Matrimony
(A} Marriage (B) Waedlock
(C) Divorce (D)} Matrimony

aﬁa%mﬁaﬂtsﬁ:ﬁmgﬁﬁmmwﬁgﬁﬁsﬁ;ﬂmi
I 5% avd 01 oK 5 3t a e | ow 9 e R Pt wen 2

(4) 13 et _ (8) 8feft

(©) 3 fht (D) stEh

TR[ A 319w ¥ 8 7 ) 31w 10 el =emn woew e lazzﬁ'gm s s
e T & Tére gfgm ) 3 5 fedY wem | Su w5, TeE = | e R
Ly 4

(a) <Ro-gd B g
©) Rrw-vfeam (D) I-ufam

A3 o e & e s PR 3l o o e 4 el v w ae o o @
aﬂtzﬁnﬁm%mﬁazga:zﬁmﬁﬁmmﬁmwm?
(A) IW | (B) vivaw

© @ (D) hgoT



49,

51.

52.

(34)
RDM(H)
v e e i 30 10 ff ge | wg g qeer R ol s el e A o
7% T ot g & 3 10 Relt e R | R Rreg @ T gl i e
it o

 # (8) dfeam
(C) FW (Dy <o

mmﬁm%mﬁgﬁmmmmm-ﬁmmﬁammﬁ ]
oz 2 Ty e & o g e g ol 2 Pl vl | s gt ofk 2
feft =t | over va g few R sl 2

(A) By R
(C) o (@) W ,

313 Tuf#F A, B, C, D, E, F, G 3R 1 2 dfdwdi # vmm gk & Tl ferfat
BV iEwiR it Baicm @ F v RmiREc E
afkn%m#ﬁal%1H,E%ﬁ$mﬁmﬁﬂmtwaﬂtﬂﬁmmﬂ
Rt Rk 33 | cRmrm TR ot S am et d?

(A) F (B G

() B o A

Wa =i A B C,DINEGTASzNangusd®3Eic bF
A5 ol sindard | A, R DS v dad | BaAS i AR b
22 |
(A} C (B) D
© E D) B

RDM(H)



I,
IE.

53,

37,

2

I

(35}
RDM({H)

wle =R A, B, €, D 3N E ¥ % aet 1 3R 70 R g A 33§

TR YA S o e i R ) A, E R dm el sidmt 1, D%
o i A i} | D, A $dE T dET ¥ ) ¢ 3 D ¥ v e wfi
WE?

(A) 1 By 2

© 3 ©) 4

vRfE A B.CDIREFRMA M@ mem iR TR LA, C
ARDFTA T4 ) B, Cc F ¥l R WA ¢ | P AR wF A
(A) E | B) B
© ¢ ®) D

Wem A, B . DREmRaRB A sddsz@ o C
sdm TR ATt AS S derR (B, DR a1 TS dfwy
Lack o8 & | |

{(A) B (B) E

© A @) D |
NfITh L INFEPR INTIHKRIRE omRar} |P3ﬂmﬁ
FEEg ¥ 7

(A) == ®), Wi
) waua ) wdtan

BREt e AmPa DR iBwiwEaR Dk Emdgmdme (-
CwER i ¥ a
(a) ot ' (B) T

(C) W (D) T



(36)
RDM(H)

58. ANIGRBY | Bwuﬁciinmwychcaﬂwww

59,

61.

62.

RNERI @@ FY | P A Sivmraun §0

(A) ¥ @®) T
(C) wi ®)

f&mwaﬁwﬁmxt|xwgaztlsmnﬂatlvaﬁrgﬁﬂtl
AR TR RE?

(&) X ®) Y

© A @ B

wERMUR I ver XY I Um Y} | R X d e w T x ok
Y e v ity § 2

(A) R (B) wnh

(©) vt/ vt © ¥

AHE A2 (SE) 3R T ST o1 i B ¥

(A) G (B) %W

(C) AT . (D) T

o shomait w1 mrew 135 | ot e A & W e v 1808 | AR
weat & i o 2s | oo ond ot vem d

(A) 130 (B} 125

©) 120 ) D) 160

RDM(H).



67.

a7
1000 SafR # ¥ 40% wieemd € v wwbi ge & | v Rare wndte F, 300
st X IR = o B | 30% wafde Rl MR e o o, 3
wfierd ot | gt 4 s o AR Rt wg 3 et e Tt form 2

(A) 120 | (By 180
© 360 D) 490
a1 grefiag i &, w2

(A) mmnmmt@mwmmwtl

(B) TR w1 grat v & = iRt o em g |
© a5 At s & < et & R R wen R |
) anolht 51 gt w3 w2 Rt

frafarien SReeT Tght § # @ o aifts 3w & Rl w =
i o T & Fs se-mE # IR = d g Ren s g 2

(A) Tafw wR= (B) W ARfo SR

(€) wgH afeEm (D) FuZ SR

-3t (Non-overlapping) ¥l 25-34, 35-44 4554, 55-64 8 Wi
35-44 %1 ot g &

(A) 39.5 (B) 40.5

(C) 350 | (D} 440

R mﬁwuﬁwﬂ‘ﬁﬂ ﬂ‘rmmt

(A) i shrea . @) uw argfors e

@ Vimahdshen (©) T (¥ TR



69,

70.

71,

(38)

AR 51 TP T o 3 R e s
(A) TR B) At
(C) wTom (D) T

iﬁvﬁ_%ﬁmmmﬂammﬁﬁmﬁwmmt |

@ = ®) ]fﬂ"—*—“—"—ﬁ
n n-1)

e D) T

w9 mfert & Ry g iy # o e frerem !’ﬁTﬁ r.
(A) ftram (B) =

© & fm%ﬁ-ﬁfaﬁ.

‘Tﬁx-ﬁhfy, 4x+ 2y + 12 =0 % vy i diftyg § #inﬁlmﬁw 258,

airyimmmﬁam%
(A) -9 | 9
) L1 M) 4,5

T e % fom mrex 30 % | s Firerer 2.8, At R fporie -
(A) 6.67%. B) 9.45%
€ 15% D). 2.5%



74.

75.

76.

(39
RDM(H) -

- 1000 Y FEEE | A 100 st = g fovwr s 3 | o wmer = 170
o} | R e Rrrem 10 3t} | vew 6t e 2R v e

(A) 0.53 @) 105
(C) 1583 D) 10&H

& Wg W H 4l v Ay wo ailest 1 25% e wdt ¥ A weit fw
TRIUT T B 7

Ay %0° (B) 45°

€) 60° o) 75

2, 4 3R 6 T wrdifaes Ao 3

(A) 330 (8) 3.00

(€) 3.75 @) 4.00

7t Prefritam teel wagems 132
13,8,6,3,8,13,2x+3,8,13,3,5,7

o AFE F AT A F AR R

(&) 6 B) 5

© 7 - (D) 8

e vl #1 qevm A #

(A) wrem _ (B) IR

(C) wgEH | (D) W’

RDM(H)



81.

(48)
RDM@) i

AR 2, 4, 5, 6,8, 17 % 7 Rier 2333 8, 7@ stwdl 4, 8, 10, 12, 16,
34 1 g1 Freem B |
(A) 23.33 (B) 46.66

€y 12.23 @ 0

W g T gt s 36,50 3 57.50 § { o - st

TR
(A) 47.50 (B) 12.50
(C) 10.50 (D) 11.50

AT T TIgFeEe T & & WS IR A 3r B ¥ s pa)= %-,.P(AUB) =.%
3 P(B) = x. x ¥ foFm T ¥ o1 A 9% B TER s Hed w7

A (B}

©) [§53)

] = h—

T WghRww S X w1 Prfies e 9w Be (probability density
ﬁmc:tiun)ﬁ
fix)=6x(1-x),0<xx1

g

1 1
(A) 2 - {B) 3
1 b
(©) 2 {D) 3

RDM(H)



- 82.

84.

(41)
A} X T ¥R B O st = § il p(et) = Pot=2) 79wy §

(A) 2 B) t
(€ ¥2 o) 3

Preafifiyrs ot 8 & 39 T s e 2

(A) fve 5% ¥ (58) % s w g |

(B) X3 Y% Agesn iw 2.6 2 |

(C) o +=0 8, wferrm teard v gt ¥ vy ¥ |

(D) o 2 uzait A 9 B % R1T P(A U B) = P(A) + P(B) - P(A ~ B)

2 Sl & forg wmim wren il Tpeive T s gaf2 ¥ laﬁﬁwﬁ%
A TR HIT |

(A) 15.75,0.25 (B) 16,1
© 151 (D) 14.75, 1.75
u A T Faflen wiera seT B

X: 0 ] 2 3

R

2 3 4 5

X 1 rfird AE g
(A) 1.43 (B) 1.20
(C) 1380 ) 2.00

%ﬂammwmmmwm%mmmfé?
(A) 205 (B) 2I
) 20 Dy 4

RDM(H)



89.

91.

(A)

@2
RDM(H)
T8 s 2 P v et v w v iR w9 1 3% B w23 # | At
ssran # & 100 %9 & gl F A A T 0w Awat £ wheem T
w7 |
(A) 0.135 ' (B} 0.03
(©) 0.09 @O 030

T AT § 7 S & | NER 3 % 9t ave vhreeer S vhmmne % 9y
TR ) §, b e Enft -

(A) 216 B) 343
© 21 ®) 125

I P(A) = % WP(B)= %.aﬁﬂaﬁmm_mﬁmﬁm F(A U B)
» |

(B)

© b))

win e
thid LA

HINFY 8 (normal distribution) %1 W% fyerat v s 2
(A) 054a (B) 3.14q
{© ll4o (D) 08¢

FTEH! 10 ATt & AAr ger & wult Pmfifas st R ¥ .
EX=150,2Y =60, ZX? =300, IY2 =352, Z(X + Y¥ = 1372
T Cov(X, Y) R

(A) 2 ®) 4
© 6 D) 8

RDM{H)



93.

95,

(43)

RDM(H) A
Wre=08 4 wPeffemw imy
(A) 036 B) 0.64
{€) 0.20 D 036

X 3 Y % moy wgEey oS 0.2 § 3R Var() = SVar(Y) 78 Y W X 9
e s &

A) % ®) 5

©) % D) 5

PrafiRa et & 2 Soft ergeies Tori ) o B -

n=10, Zd2=5
(A) 0.95 B) 0.97
(C) 096 @) 0.99

e r =08, b, = 0., by =05, ¥ =53 7 =3, ¥ x Wy % yhvwm
HHE g

(A) y=0.6x-610 (B) y=096x-3.7
(C) y=08« (D} y=0.6x

Frieriga 7 & ¥ w1 qewis R ad ok 9w ad & e 6 Bl
94 T d

(A) SR YFHH _ (B) i Yowim
(C) Arie-voay gawe (D) Fem gasis



97.

98.

99.

160.

(44)
RDM(H)
afe wef Fegoft et e e s & wgeren 8, v
(A) SR T o TR T s s |
(B) FeRIETiF iR i gl vomd s i £
(C) R GHwiH, TR gEEE AR |
(D) S guH®, TR GEHEH A BT |

feam 2 % 2p g, = 300, Spyq, = 125 3 T THHH 200 & 7 Zpyq, T W
Sl

(A) 125 ®) 150
(C) 250 ) 100

afg SER gESiE we 125 # 3 uR gEwis g 500 ¥ ow few gumie

et
(A) 3125 (B) 250.0
(C) 625 (D) 1475

s ¥ gl it Arr 40% | TgRlt w3, o =R 3 T B e @ e
e A 6 R 8% FY 3fg § & | F  wgeer @ v suS e
I 1 TRTe o Rirera by veed @lEd % woor

(A) 15% (B) 20%

© 5% ®) 2%

RDM(H)



(45)
RDM(H)
Space For Rough Werk

RDM(H)



(46)
RDM(H)
Space For Rengh Work

RDM(H)



"
RIDM(EH)

7E we-giew weaw A wnhy § | 7 w91 e

% 3 et off wv & srftrre @ M-wrph w0 & weifte

we T wRete ¥ 1ol 9 wheef W R 6@

| s /At % dfve v s ¥ 9w w IR

wrdEmht B aneht g 3¢ ey F 8 aeh dem f
vyt @ ahm frRr s awar R |

RDM(H)




Quesﬂnn Phper Booldet Nn

.gnmnﬂ»gﬁrmuhmmwﬁﬁ!ﬁ aﬂmﬁt&rmaml
=y wv-gRwwt # 106 e ot €, mm‘iwmﬂmwﬁ,wﬁwm-mwmﬂ

% %, @ e f vwn F 4 .
i W A 2w e g | _——
e R0 & T s apwend, SR e vy e W e en-gfRme # R ot
ettt it v ey r S ol AR R wow W
m:miimmhmmﬁqwq%mﬁmmﬁﬁﬁﬂﬁmﬁ#ﬁmmmﬁﬂﬁﬁﬁ
w ow AR, Wi & b e w149 e AR e ¥ B g

P

Bt B

wwel wr. o
T o i E;‘;‘ 0
(s 3
musmeeen . Soes
|swm won (mit Af) PROROLEC
2®EO®
P IONON W) AOROTORD)
VIO T Fou

7. of¥ Rl e e o il Ry wer-gRiess 3 fier omn 4, < me v we ff dr wdr o s st fn oo

8. u&ﬁimmmmm%ﬁuﬁimﬁﬁﬂmwﬁﬁﬁmmﬁmﬁ@mﬂmw
o iR wom. g Fe fid & we o ot R Bt

5. yrelths ol e ¥ v o s i e § e e e 3 g 1o v 3% e @ o T e | o v e g
gﬁmﬁﬁ&hﬁmhmhﬁmmmmmmﬁﬁm‘rmmmwﬂﬁmw&#qw
|

10, E‘ﬁ ft @k 4, 4t 2 et B R “SPACE FOR ROUGH WORK™ T € ¢ 3R wer-wa gftes 2t swr-ax ¥ wlt o

11, oft v Freficr v B vl wrd e B &, o oo w33 Tl | vl Srlier T ww-gfRee ARk By
mmﬂﬁﬁwm#mmwmmmmﬁrﬁiﬁmmtﬁﬂMmﬁﬁiwﬂ
= AT |

12. ¥ ot ol Aty T o W e ) Pt el el T R TR W T A e R g S W
< ur v wdt ot v v, A e e & Pearfine s fie semm ek g w2r weid 8wl |

3. R W-XFRT W -y § 1 W o Ak e A A o A e o gt N wif wen
i sfivareny & | aft i chdl e ¥ safinp/ -l wrd it fve war wwn & S w0 o0 SR wwhol #
) teets <R wiier 3goy andt warwy o whwnalt % 4oy e o we €

w2 W wfwaw &% : 100

Hite gut oY wu dwr : 48 _ wo- st %z R D MKH1
o= . wr-ght #t e

vl wr W

OMR e -qfaasy
i

o et & e




_28 o s | &
25 | A 79 c
=5 1 @&
__3';',____4_' go | B
31 c g | D -
12 D 82 A
33 B g3 B
| 34 c il A ] I e LERR
I S — ,
3Bt i 85 ] b A0 8T e
36 A BE C | A
37 B 87 A s Yoo Esank %—:_werx
2 A |88 > do b Shoderhs
39 A 89 B .
B e
40 A a0 o Lo ha appe d 1=
a1 A a1 ¢ e Ppror.
a2 B 22 A
a3 B a3 ¢ A\"’ &\
p L
| 2 A 94 B ¢
a8 A : 96 c s d}’}_
| a7 | A : o7 .
48 ] D . o8 A
.45 | A 98 B il
50| A | 1 100 B ]




